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P () FAmTEAREE 8, 997 8 fag 9a & I A |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) FEF 7 & G 9T ) FHAR T G §T Bl |
Solve all parts of a question consecutively together.
(iii) ¥e% F99 H 73 78 8 JRE] HIfrd |
Start each question on fresh page.
(v) @ yTTen & 3 817 # Rl 7 3N s S A 8

Only English version is valid in case of difference in both the languages.

1. () v feufy nigge (PPM) 1 wioida i |
Define the Pulse Position Modulation (PPM).
(i) TTEY T ehia G A IS QI gor frfa |
Write any two comparison between analog and digital communication.
(iif) ST A T R AHAAE ?
What do you understand by information rate ?
(iv) SRl defies 3 I ferfae |
Write uses of facsimile technology.
(v) S0 HaR o g Q) Hmd ffee |

Write any two limitations of satellite communications. (2x5)

2. () ST e MTgger H HRIE 1w qui AR |
Draw and explain working of adaptive delta modulation.
Gi) f.uE.%. 3T HTGEEH qohieh i GAFR |
Explain the PSK digital modulation technique. (6x2)
(1 of2) P.T.O.
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3.

(1)

(ii)

(1)

(i)

I 1 AT | AT 7 AT 2 ?%ﬁﬁmﬁ@ﬁﬁml

What do you understand by ‘Amount of Information’ ? Explain entropy of the
system.

fapfa srfmmg & were srfirerg w1 awgmsT |

Explain direct recording in facsimile receiver. (6x2)

TR & 31 Freft fafir=r wehR ) 3umrg et w1 wmemee |
Explain different types of satellite orbits used.

YR AIETEe AR H TR T35 Y dehefish ) aoemse |

Explain the frequency reuse technique in cellular mobile communication. (6x2)
(i) WE ARG ! TEHAT H FTHUTUST hl HRYUT S THTIT |
Explain the working of transponder with the help of block diagram.
(ii) HIfET Y a1 STavaH 8 7 39 foranr @ TmEmsw |
What is the need of coding ? Explain it in detail. (6x2)
(i) whkipfa STfmTE =1 goasor sy wfzd anemsy |
Explain the facsimile receiver with synchronisation.
(il)  FTHTI T A A9 H A0 & 7 ... gt @) fear & e |
What do you understand by quantization noise ? Explain PCM reconstruction in
detail. , (6x2)
() THI.W. 9. S5 1R 7 REHIETE ) e SrEeawon S a9 |
What is FDM and TDM multiplexing ? Explain the basic concept of
synchronization.
(i) €S 3T ! T STAVIHAT ] 7 WS GUR F ¥ 3476 Hrahafy w) awsmeg |
What is the need of Hand-off ? Explain Hand-off mechanism in mobile
communication. (6x2)
e 4 3 foredl @ w wftra feoaforat ferfiam

Write short notes on any two of the following :

(i) IR HEISSA YR VYA

Cellular mobile base station
(i) IR TR 2g TVl v -3

Overall path loss for satellite communication. ,
(iii) ST TR sgEyT I HEAfafy .

Working of digital communication system. (6x2)



